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There are FORTY (40) questions in this paper. Each gquestion is worth 25 marks.
Answer ALL gquestions inthe OMR shedt. (100
Marks)

1. Which of these concepts is opposed by people who support the idea of free will?

A Hurman behaviour differs from that of animal behawiour,

B. Heredity and environment are equally imporant.

B Farents should apply discipline to disobedient children.

] It i possible for scientists to discover the causes of behaviour.

2. Which type of psychologist is most likely to study changes in children's taste
preferences as they grow older?

Human factors specialist
Forensic psyefologist
Psychoanalky st
Developmental peychologist

0o m =

3. Who studies the effett s of smokinogg drinking, diet, and exercise on behaviour?

Positive pevchalooist
Behawviourist
Zounselling psychologist
Health psychologist

S e

4. Whatisthe difference in function hetween the dendrites-and the axon of 3 neuran??

Dendrites synthesize proteins and the axon contains the chromosomes.
Dendrites contain the chromosomes and the axon synthesEes proteins.
Dendrites receive messages and the axon sends messages.
Dendrites send messages and the axon receives messages.

0 om =

A, What route does a neurotransmitter fallosw?

The presynaptic cell sends it to the postsynaptic cell.
A dendrite sends it to an axan.
The chromosomes send it to the mitochondria.

The sympathetic nervous systerm sends # to the parasympathetic nenous
Sy stem.

CLeym.
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What input does the right hemisphere ofthe cortex have and which muscles does it
contral?

A It receives input from the left side and controls muscles on the 1eft side.
B. It receives input from the left side and controls muscles on the right side.
s It receives input from the right side and controls muscles on the [eft side.
D It receives input from the right side and controls muscles on the right side.

Which of these can he easily explained ky the drive theory of motivation’?

Youwvolurteer your tirme for a project to help autistic children.
When you feel a thorn inyour leg, you stop to remave it.

When wou have some free time, wou enjoy playing video games.
Although you are not hungry, you join friends to get ice cream.

o om =

In M asiow's hieratchy of needs, which isthe highest need?

A Seff-esteerp

B. Self-actualization
I, Social interaction

] Fhysiological needs

Howe does emotional distress relate to eating - st all?

A Emotional distress isthe main reason.for ohegity:;

B M ost people with emotional distress lose their appetite and lose weight.
i M ost people overeat somewhat in response totemporary distress.

] Emotional distress has no relationship at all with eatino.

Which of these ohservations explains the opponert-process theory of colour
wigion?

A, After yvou stare at a bright colour far a minute, you see a different colour when
WO 0ok Sy,

B. From a greater distance, blue daots look black, athough other small dots keep
their colour.

. You can easik recognize an object's colour even while wearing tinted
glasses.

D.  Colour wision becomes weaker and weaker toveard the periphern of the retina.
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11. Which of the following isthe emphasis of Gestalt psychology ?

A
B
B
O

Genetic differences influence how people percene their surroundings.

Much of our visual perception depends on neudrons with feature detectaor
nroperies.

Several brain areas control different aspects of wvisual perception.

We perceive a pattern as awhaole, not just as the sum of its parts.

12, Although motion pictures are actually a rapid series of still photos, we perceie
rmoverment. What does this statement describe?

0o m =

Shape constancy

Size constamey
Stroboscofic o erment
il otion parallax

13 What causes vou teonotice ane red treavery quickly within a forest of green trees?

S e

The availatility-heuristic

The representatveness heUrizic
A foprdown process

A hottorrup process

14. Suppose a restadrant has an eight-page menu, which'of the following is probable?

0 om =

M aximizers will have a hard time deciding on anything.

Ml axirmizers will make a poor choice.

Ml aximizers will choose quickly and enjoy their choice.

Satisficers will have a hard time deciding on anything, and will regret their
choice.

15, Which of the following obserations tends to be true ahout "word superiority effect™?

A
B.
.
O

Feople remember something better it they can put it into words,
Feople can identify a letter faster it it is part of aword than if it is by itseff.

Feople can remember a series of words better if they all start with the same
letter.

Feople can remember a word better it they think about s meaning in their
o lives.
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16. According to Jean Piaget's wiew of cognitive development, swhat did he conclude
about children's thinking

Zhildren's thinking is just like adults' thinking, but slower.

Children's thinking is just like adults'thinking, but less well infarmed.
Children's thinking is gqualitatively different from adults' thinking.

Zhildren imitate adults for vears hefare they star thinking for themsehes.

e

17. Wwhat did Erik Erikson regard as the main social need of a newhbarn infant™?

Ceveloping a sense of independence
Forming a trusting attachiment
LInderstanding theory of mind
Ceveloping persoralinterest

s

18. What do people da durihg a midlife transition’?

They increase their social activities.

They dgrieve abouttheir physical deterioration.
They take a jobywith TondeT e

They reassess theitgoals.

0 om =

19. In classical conditioning, which of these becomes stkbfger as a result of training

The conditioned stimulus
The conditioned response
The unconditioned stimulus
The unconditioned response

0o m =

20, What is the main difference between classical conditioning and operant
conditioning ?

A, I aperant conditioning, the animal receives resvards instead of punishments.

B. Inoperant conditioning, the animal's hehaviour controls the outcome.

. In operant conditioning, the animal associates one stimulus with another
stirmulls.,

] In operant conditioning, the animal receives reinforcement on every trial, not
just some.
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21. What does the sociaklearning approach emphasize?

The [aw of effect

Wariahle-ratio schedules of reinforcement
The disequilibrium principle

Learning by imitation

e

22 WWhich of these is an example of an internal attribution?

Shewas late for class hecause the bhus did not run on time.
Shewas late for class hecause she is not conscientiols.
Shewas late for class because her alarm clock is broken.
She was lateforelass hecause of unexpected had weather.

s

23"l drove fast today hecadse lewas in a hurry. That other driver who drove fast is
probahbly a rude, 3ggressie’ person.” Which phenomenon do these statements

ilustrate?

A The actor-obsetver effect
B. Cognitive dissonance

2. Fluralistic ignorance

¥ The forewarning effect

24 What hypothesis did Milgram's obedience study test?

A Feople in a postion of authority will seek opportunties to abuse that power.

B Mlormal peaple will follow arders to hurt someone else.

. Threats of punishment increase people's wilingness to obey an autharity
figure.

D

Feople with [ow self-esteem will obey arders more than ather peaple will.

29, A student who wants to avoid studying says, "l can concertrate harder tomorron if |
spend tanight relaxing. " What does this appear to be an example of?

Fraojection
Feaction formation
Sublimation
Rationalization

0 om
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26. Whatwas a rmajor criterion for idertifying the Big Five personality traits?

A All of them should have been essential for survival throughot human
evalution.

B. mlone of them should correlate highl with any of the others.

B mHone of them should depend on the same brain area as any ofthe others.
O. All of them should be easily identifiable at all ages from infancy to old age.

27, How consistent is personality as people grov alder?

A

B.

.

0.

Fersonality fluctuates substantially between one assessiment and the next, at
all ages.

Fersonality ig=fairp=Consistent in vouth and hecomes more and more
cohsistent with age.

Fersonality ighighty consistent in young people but hecomes less consistent
later.

Fersonality i mighly consistent.and equally consistent at all ages.

28, What do implicit personalitytests try 10 ateamplizh?

A.
B.

.
C.

They try to measure personalitd aspects that vowdo not describe openly.
They try to predict thewass inowhich.y oo personalitesnill change in future
YEArs.

They try to identify unigue of unusual personality type s,
They try to relate personality to brain activity,

29, Fromwhat evidence did Spearman infer the existence of a g factar in intelligence?

A

B.

=
0.

Mean performance on |G tests has been rising from one generation to the
next.
acares an amy intellectual test correlate postieely with almost amy other such
test.

Scores on 12 tests are consistently higher in prosperous countries than in
poar courtries.

iZhildren's scares an |2 tests carrelate highly with those of their parents.

30, Which of the following is an example of "uid" intelligence’?

A
B.
L

Finding a creative way to fix a broken machine
Adding a row of numbers to determine the cost of a product
ainging a familiar popular song
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a4,
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D. Fracticing free-throw shoating in haskethall

What does it mean if an iterm on the Stanford-Binet 12 test is designated "age "7

Ml ost B-year-olds will answer it correcthy.

il ost B-year-alds will answer it incorrectly.

The gquestion should be asked onby to 3-year-olds.
The guestion waswritten 8 vears ago.

0 om

Which phenomenon doesthe “F nn effect” refer to??

A, People with extremely high or low test scores tend to get closer to the mean
on aretest. =

B.  The predictieeyalidity of amy testis lower than the reliability of the test.

iz, Children in small families tend 1o do better on 12 tests than children in lamge
families.

0. Ferormanee o lGitestgtendsdo improve from one generation to the next.

Which disorder is-characterized Gy "unprevoked periods of rapid breathing, rapid
heart rate, chest pains, sweating, faintness, andtrembling?

Depression

Fanic disorder
Dheesshe-compulsive disorder
Bipolar disorder

S

What is one reason some people with obhsessive-compulsive disorder distrust their
memaries?

A, Maost of them, in fact, have memaoary impairments.

B. They hallucinate woices that tell them that they have not done what they
should do.

. They often have lapses of consciousness.

D. Repeating an act marny times makes each repetition less memorahle.

What type of sleep disorder is cormmaon far peaple with major depression’?

A They fail to enter REM sleep
B. They walk and talk during their sleep.
e They wake up early and cannaot get hack to sleep.

q
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a8
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40.

D. They have sudden attacks of sleepiness and muscle paralysis during the
dan.

Which type of psychotherapy sets clear goals and tries to achieve thetm through
nest [earning ?

Humanistic therapy
Fevchoanaly sis
Fayvchodynamic therapm
Behaviour therapmy

e

Howe do body reactions relate to emations, according to the James-Lange theorn:?

Emotionalfeelings lead to body reactions.
Body reactions l@ad to emational feelings.
Body reactions suppress emotional feelings.
Emotional feelings sippress hody reactions.

0o mE

Which of these is-most often/cited as evidence farthe view that humans have six
hasic emotions?

A Each of the six emotions depehds on 3 different hofmone.
B Each of the siv emotions depends ona differaht brainarea.
o, Meswbiorn bahies show six distinet emotions,

] Feople can recognize sk facial expressions of emotion.

Whatwas the main point that Hans Selye emphasized about stress?

A The hody reacts to difficult life events like it reactsto dizease.

B The way people react to stress closely resembles that of other animals.

6, Feople vary genetically in their akility to recover from stressful experiences.
] A feeling of personal rejection is the most harmful type of stress.

What does coping with stress by reappraisal mean?

Feinterpreting a situation to make it seem less threatening

Trying to take contral of the situation

Trying to predict the outcome of the situation

Trying to suppress the fear, sadness, or other unpleasant emation that a
situation causes

i

10



Princigle 5 0F Pspcholag (75 DILAH 54) CONFIDEN TAL
Wfrch 2022 Five Exafivaion 5 et

=+ END OF QUESTION PAPER ™
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